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ID 3C3

0 1 2 3 4 5 6 7

Signal Balance Fixed Fixed Fixed Fixed Fixed

MSB LSB

Calculation 1 = ON 4 3 0 0 0

Value On/Off

ID 6X1

0 1 2 3 4 5 6 7

Signal Balancing

MSB LSB MSB LSB MSB LSB

Calculation bitwise

Value 1 is on

ID 6X2

0 1 2 3 4 5 6 7

Signal

MSB LSB MSB LSB MSB LSB MSB LSB

Calculation

Value

ID 6X3

0 1 2 3 4 5 6 7

Signal

MSB LSB MSB LSB MSB LSB MSB LSB

Calculation

Value

Voltage 1 Voltage 2 Voltage 3 Voltage 4

Balance Command

Status and Temperatures

Cell Voltages

Cell Voltages

MSB x 256 +LSB MSB x 256 +LSB MSB x 256 +LSB MSB x 256 +LSB

1 mV 1 mV 1 mV 1 mV

Voltage 5

MSB x 256 +LSB

1 mV

MSB x 256 +LSB MSB x 256 +LSB MSB x 256 +LSB

1 mV 1 mV 1 mV

Temperature

MSB x 256 +LSB

0.001 C

Voltage 6 Voltage 7 Voltage 8

Temperature

MSB x 256 +LSB

0.001 C

Temperature

MSB x 256 +LSB

0.001 C

Balance Voltage

MSB x 256 +LSB

1 mV


